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Simplify.  Your answer should contain only positive exponents.

1)  a2 ⋅ 2a4

2)  
2n5

10n9

3)  
2m4

4m0

4)  4n−6 ⋅ 5n2

5)  
x

4x−3
6)  (4a4)3

7)  (yx3 ⋅ x3y4)3

8)  ( 2uv

2u3v3)3

Simplify.

9)  5 8 ⋅ 10 10)  10x3  ⋅ 3x2

11)  
10

45
12)  

4

2 3

13)  
5 5n2

4 2n2

14)  6 + 6

15)  − 2 − 2 2 16)  3 + 12

17)  −2 27 − 2 3 18)  
3

2 + 3

Simplify.  Use absolute value signs when necessary.

19)  125x4 20)  28x3

Factor each completely.

21)  6y3 − 4y2x − 2y2 22)  15v + 3v2 + 24v3

23)  24b3 − 30b2 + 20b − 25 24)  15n3 − 24n2 − 30n + 48

25)  x2 + 6x − 16 26)  4v2 + 4v − 80
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27)  7x2 + 19x + 10 28)  6n2 − 23n − 4

29)  x4 + 8x2 − 9 30)  25b2 − 16

31)  16n2 + 25 32)  8x3 + 1

Solve each equation by factoring.

33)  a2 − 11a = −24 34)  2b2 − 3b + 3 = 5

Solve each equation with the quadratic formula.

35)  6a2 − a − 35 = 0 36)  6n2 − 2n = 7

The parent function to the function graphed below, g(x), is  f (x) = x2.  
a) Describe  the transformations represented.
b) Graph the function, g(x), below by plotting at least 5 points.

37)  f (x) = (x + 4)2 + 2

Graph the function below by plotting at least 5 points and give the coordinates of the vertex.

38)  f (x) = −x2 + 8x − 16

Graph the function below using a table of values.  Plot at least 5 points.

39)  f (x) = −x3 + 3x2 − 4

Evaluate each function.

40)  w(t) = −t2 + 4t; Find w(−3) 41)  f (x) = x2 − 4x; Find f (−x)

42)  f (t) = 2t − t2; Find f (z − 1)

State the excluded values for each.

43)  
k − 5

6k2 − 30k

Identify the domain and range.

44)  y = 2 x − 2 + 3

Find the inverse of each function.

45)  g(x) = −9x − 4 46)  f (x) = −2x5 − 1



©X K2I0R2z1\ eKjuMtka` mSuoafdt\wZa]rWe` UL`LxCi.g e `Adlwlh QrtingZhwtisB RrYeKsieRrGv\e[dy.` M cMxaodgev awYiZtshk _INn`fzi_nUiqtneD mAvlHgvefbHrVaI K2S.

Worksheet by Kuta Software LLC

-3-

Simplify each expression.

47)  
m + 8

m2 + m − 56
48)  

a2 − 5a − 14

a2 − 13a + 42

49)  
2x
3

 ⋅ 
4

6x
50)  

4a
a + 3

 ⋅ 
a2 + 5a + 6

a + 2

51)  
n + 7

n2 + n − 42
 ⋅ 

6n − 36

2n − 10
52)  

5

9k2 ÷
3

10k

53)  
6v2 + 60v
v + 9

÷
v + 10

v + 9
54)  

r2 + 2r − 3

r2 − 5r − 24
÷
r2 + 15r + 56

r2 − 64

55)  

4

x + 5

1

4
 + 

16

x + 5

56)  
x + 4y
4y2  − 

5

5x3

57)  3 + 
4x

15x2 58)  
6

r + 5
 + 

3

r − 2

59)  
p − 2

2p2 − 10p
 − 

2

2p

Solve each equation.  Remember to check for extraneous solutions.

60)  
5

6k
 = 

1

2
 − 

1

6k
61)  

1

x2 + x − 30
 = 

6

x2 + x − 30
 − 

1

x + 6

62)  
4

n2  + 
n + 3

n
 = 
n2 + 4n − 5

n2 63)  
1

n2 + 2n
 + 
n2 − 5n − 6

n2 + 2n
 = 

1

n

Perform the indicated operation.

64)  g(x) = x − 2,    f (x) = x2 − 4

a) (g + f )(x)     b) ( f  − g)(x)     c) (g ⋅ f )(x)     d) ( fg )(x)     e) (g  f )(x)
 
 

State the possible number of real zeros, the possible number of positive and negative zeros, and
the possible rational zeros for the function.  Then find all zeros.

65)  f (x) = 3x4 − 5x3 + x2 − 5x − 2
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Answers to Summer Assignment
1)  2a6

2)  
1

5n4 3)  
m4

2
4)  

20

n4

5)  
x4

4

6)  64a12 7)  y15x18

8)  
1

u6v6

9)  20 5 10)  x2 30x
11)  

2

3
12)  

3

3

13)  
5 10

8

14)  2 6 15)  −3 2 16)  3 3

17)  −8 3 18)  −3 2 + 3 3 19)  5x2 5 20)  2 x 7x
21)  2y2(3y − 2x − 1) 22)  3v(5 + v + 8v2) 23)  (6b2 + 5)(4b − 5) 24)  3(n2 − 2)(5n − 8)
25)  (x + 8)(x − 2) 26)  4(v − 4)(v + 5) 27)  (7x + 5)(x + 2) 28)  (n − 4)(6n + 1)
29)  (x2 + 9)(x − 1)(x + 1) 30)  (5b + 4)(5b − 4) 31)  Not factorable
32)  (2x + 1)(4x2 − 2x + 1) 33)  {8, 3}

34)  {− 1

2
, 2}

35)  {5

2
, −

7

3} 36)  {1 + 43

6
, 

1 − 43

6 } 37)  

x

y

−7 −6 −5 −4 −3 −2 −1

1

2

3

4

5

6

7

38)  

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Minima: None
Maxima: (4, 0)

39)  

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

40)  −21 41)  x2 + 4x 42)  −z2 + 4z − 3 43)  {0, 5}
44)  Domain: x ≥ 2

Range: y ≥ 3
45)  g−1(x) = −

1

9
x − 

4

9
46)  f −1(x) = 5 −x − 1

2
47)  

1

m − 7

48)  
a + 2

a − 6
49)  

4

9

50)  4a
51)  

3

n − 5

52)  
50

27k
53)  6v

54)  
r − 1

r + 7
55)  

16

x + 69

56)  
x4 + 4x3y − 4y2

4y2x3 57)  
45x + 4

15x
58)  

9r + 3
(r − 2)(r + 5) 59)  

−p + 8

2p(p − 5)
60)  {2} 61)  {10} 62)  {9} 63)  {7, −1}
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64)  a) (g + f )(x) = x2 + x − 6,  
b) ( f  − g)(x) = x2 − x − 2
c)  (g ⋅ f )(x) = x3 − 2x2 − 4x + 8

d)  ( fg )(x) = x + 2

e) (g  f )(x) = x2 − 6

65)  4, 2, or 0 possible real zeros
3 or 1 possible positive zeros
1 possible negative zero

possible rational zeros:±1,±
1

3
,±2,±

2

3

zeros: 2,−
1

3
,±i


